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How will
each
of the Micropiles
perform under static
compression load?
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Creep vs. Time in Log Cycle - Top 15 kPa

45

—+— 286 KN

40 ;
35

—=— 384 kN

. /

E 95 —&— 1 mm creep
= per log
@ 5 cycle
o
15 ——— 2 mm creep
per log
cycle
10 i
o —— 151 KN

ISHERWOOD

GEOSTRUCTURAL ENGINEERS



Maximum Compression
Load
380 kN (85 Kkips)

e

Maximum Tension
Load
160 kN (36 kips)




Array and the Bar

ISHERWOOD

GEOSTRUCTURAL ENGINEERS



-m- 151 kM

43 m z 9 —- 300 kM
- i@ start
14 ft | -‘E. of creep
E 4 test
300 KN Instrument on 1ts
i@ end of n 1oht
50 MPa 3 ] 2 Own weig
Grout test
Length 5 —#— unload

HERWOOD

STRUCTURAL ENGINEERS

20 a0 40 &0
Movement (mm I I
GEOQ



15 kPa
Grout
Length
4.3 m
14 ft

50 MPa
Length

Depth {m)

151 kN

227 kM

— 300 kN
G start

of creep
test

—— 300 kM
ic end of
creep
test

- unload

Movement (mm}

Corrected
[ateral
Movement

ISHERWOOD




24" oMo TUBE
[&10rmend]

TOF 2F FINIHER FlLook:

-6 [46¢] MIN,

UNDRAIKED ], e
SHESR ot le AR R
UNIT WT.| STRENGTH [ | 2 RBERA
[w% ][k m>] [kPa] F,
- | \GOMRETE
1" vole ForM
| [21.0] [e%] el
124 pet | 1357 IH” ]
g @
NG
T % Eg’ 52/26 TITAN BAR.
SlM 24 (AIR-FILLED SORE)
Iln EE As = (1337 mm™2] 227 -
3 0o Py = [130 kM) 18 Kips
3 g
TR oe=
L £x
=
6 | (213 | 130 1o 193] é
125 pek | 276 bo 4020 COUPLER @ B' c/e
= lobt? [@ 1502 c/c]
| 213 I14¢] @
i s | 20 Grout
s
N
! Length
le | [221] Bal CENTRALIZER 8 T ¢/e
141 pek | 128 1ot = [& 2100 c/cl 7 9 m
[~ .
o
R
™
: 16 ft
30 o -<
I | [22d]| [30d] | g =
146 pof | 6265 IbAit2 ] g
9
N

Ll ISHERWOOD

EQOSTRUCTURAL ENGINEERS




Compression Micropile - Top 50 MPa




Creep vs. Time in Log Cycle
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Lateral Movement
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Creep Plot - 2 kPa
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What 1s your interpretation
of these results?




